MRS 3 A 27 B EER A B mE ( W5 15)

—. Kr=1+cos AEMR M r =1 — cosd NEMR XEZ @,

/\1+COSQ—1—COSH =0=723

MR = / (1 — cos6)?db <+1)—/2
0

_/ (Z —cos®)dl 1) = [%0 - sin@]
0

(1 —2cosf + W) do 1

el SE N[

Gy =L —1 41, @I hH = —4 41

)

Kr=e?0¢c|0,2n] 8998&,

/ »l 2
ds = \/dz* + dy? = % +r2dl Rk /\/% +r2df 1 =

27 o
V5e0 df (1) :[—\ége%]o (+1) :—45(64” — 1)@
0

Gl AR AER, AESFE 15 y=23
BRI 0 AR AR AL,

45
“1+15sm0 "

oy

o = o2 B, Gk ok,

AESE=1
By =2

(+1)

B ERYGR. TORES. BKEE. MERE ... i, BB BEREIEE, BHBEE 2.

WS 3 H 2T 0 WHER K INE mE (W5 15)

C R r?=2sin20 RNERKR R r =1 NER LEI@

A 2sin20=1,=0=7 3% EFE—FR (LA L), FREALES LR, (o)
1z 9 e s
IhH = / sin20df 1) = [%1 coS 29}0 (+1) = %ﬁ (+1), (%3’—1’:1 + rﬂ‘;l’]‘)%) X264n=35+2- V3
0

)

K r=06%0¢c0,2n] 8995k,
2 2 5 o 5
'J’}&%:/ V4+92‘9d9<+1):%/ v4+92d(4+92)<+1>=%[%(4+02)5}0 <+1)=§[(1+7T2)5—1 (+1)
0 0

i VUREE AR EOR 05, r = 4sech
B 6 AR AR AR R,

, BESR=1
= ; . ,5
1+ 0.5cos6 ey By = -5 D

(+1)

oy

o= Pt B, B ARG,

=

&
o
il
>‘f’:
=
T

HREILE, BHRES .



